|AIg 2 Bellwork Monday, December 9, 2013

1. Given the line 4x + 8y = 12 write the equation

of the line that i/ perpendicularjte-the this line

and passes through the point
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. Does each table show direct variation? If yes,
a. Write a direct variation equation
b. Find x when y=50.
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3. Ohm's law states that the Vo%ge (V) in volts
varies directly with the current (I) in amps. VAT 85 w})(

An electronic device passed a current of 1.6 amps
at a voltage of 9.2 volts.

a. Write a direct variation equation—— - @’16 X

b. What was the current when the voltage Q =4 676%
was increased to = \&
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